三年级（下）数学口算练习（12） 
三（    ）班     姓名                           （    ）分钟做（     ）题，对（  ）题
	200＋800=

76－28=

56＋39=

4×300=

23×3=

32÷5=

320×2=

76÷8=

34×3=

3900＋300=

10000－6000=

56－20=

24＋46=

0×65=

100－40=

5400－300=

0＋55=

200×9=

6×110=

40－21=
	660÷3=

5×600=

34×2=

8×100=

23＋46=

98－29=

54－0=

23×0=

6600－6000=

1×23=

89÷1=

55÷2=

78÷3=

330×3=

6×400=

54－3=

43＋27=

88＋12=

800＋4000=

3×21=
	47×10=
42＋39=

31×30=

20×42=

70×70=

75×10=

440÷4=

1700－900=

800÷8=

12×30=

32×3=

30×60=

8400－400=

22×40=

3000＋6000=

960－900=

4000＋5000=

33×20=

540÷6=

60×90=
	 EQ \F(3,9) ＋  EQ \F(4,9) =

 EQ \F(6,7) －  EQ \F(4,7) =

 EQ \F(8,10) －  EQ \F(5,10) =

 EQ \F(3,6) ＋  EQ \F(2,6) =

 EQ \F(3,7) ＋  EQ \F(3,7) =
 EQ \F(5,7) －  EQ \F(2,7) =

 EQ \F(3,5) ＋  EQ \F(1,5) =

 EQ \F(8,9) －  EQ \F(3,9) =

 EQ \F(3,10) ＋  EQ \F(6,10) =

 EQ \F(3,4) －  EQ \F(2,4) =

 EQ \F(7,8) －  EQ \F(4,8) =

 EQ \F(3,9) ＋  EQ \F(5,9) =
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